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I was wondering (I wonder) if ~
Actually, T am here to talk about ~
I have some problems regarding ~

I have some questions about ~

The reason why I'm here is ~
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Today, we're going to talk about ~
OK, let's start with ~
What I'd like to talk about today is ~

I'd like to focus on ~ today.

Today, I would like to turn our attention to ~
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Passage 1: Literature

[Note-Taking]

1. What is the discussion mainly about?

(A) F Scott Fitzgerald's discontent with American society in the 1920s

(B) The American Jazz Age
(C) The theme and main characters in the Great Gatsby

(D) The life of F. Scott Fitzgerald

2. What aspect of Fitzgerald's dissatisfaction does the professor highlight?

(A) America’s lack of cultural accomplishment
(B) America’s economic policy toward Europe
(C) America’s love for jazz music

(D) America’s artists being influenced by Europe



3. What are the two factors that contributed to the development of America’s golden age
in Art and Literature?

(A) European influence

(B) The advent of Jazz

(C) Materialism in society

(D) Disenchantment that the Lost Generation felt
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1. What is the main idea of the lecture?

(A) The Tetrastigma and how it sustains the Rafflesia

(B) Photosynthesis and how plants rely on it to survive

(C) The Rafflesia and how its characteristics differ from those of most plants

(D) The Rafflesia’s strong odor and unusual size

2. What is the main feature of the Rafflesia that is different from other plants?
It has protective spikes on the appearance.

It doesn't have a flower.

C) It doesn't derive energy from the Sun.

D) The filaments inside provides nearby plants with nutrients.

3. How does the Rafflesia survive?

) Its energy supplies are maintained by Southeast Asia’s fertile soil.

B) Scientists treat it with special vitamins in an effort to preserve the flower.
) It uses its stems and leaves to photosynthesize.

D) It functions as a parasite to a host plant called Tetrastigma.

4. Why is the Rafflesia difficult to study?

A) It emits an odorous gas that can cause respiratory problems for humans.
B) The flower is rare and only blooms for a short time.

C) Southeast Asian governments prohibit humans from touching the Rafflesia.

D) Scientists are unsure about how to classify it because of its unique characteristics.
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@ Day 3. Z2| Script

Practice 1

Listen to part of a discussion in a literature class.

P: Today we will be discussing F. Scott Fitzgerald, one of the most famous American writers of the
1920s. This period was referred to as the “"Lost Generation,” but Fitzgerald called it the "Jazz
Age.” Most writers of that time expressed disillusionment with post World War I American
society. Fitzgerald's 1924 classic, The Great Gatsby, captures their sense of isolation and
disenchantment. Okay, you should have read the book. What can you tell me about Fitzgerald's
feelings towards American culture?

S 1: Well, he focused on materialism in society, and... uh, seemed quite critical of it.

P: Quite so. Although Fitzgerald was known for throwing lavish parties, he did not approve of
wealth being the only measure of a person’s success or value in society. Did any of you notice
examples or indications of this attitude in the book?

S 2: 1 can't think of any specific examples, but I sensed an emptiness when reading the book.
There wasn't much depth to the characters’ lives.

P: I think that was Fitzgerald's intention. The “Lost Generation,” including Fitzgerald, felt that
America lacked cultural accomplishments, compared to Europe anyway.

S 1: Is that why he went to Europe?

P: Absolutely! Fitzgerald, like other Jazz Age artists, visited Europe, especially Paris, looking for
cultural inspiration. Ironically, the post World War I period was a kind of golden age for
American art and literature. Some say it was influenced by European culture... but others

attribute it to the emergence of Jazz, a uniquely American music form.
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Practice 2

Listen to part of a lecture in a biology class.

P: Good morning. I'd like to start off today by talking about a very unusual type of flower. It's
called the Rafflesia, and the thing that makes it so unusual is that it... well, for one thing, it smells
really bad... and, for another, it's really big. [pause while professor works the slide machine] If
you'll take a look at this slide, you'll see that the Rafflesia is one huge flower. It can grow to be
around a meter in diameter and can weigh as much as 10kg. But... that’s not really what makes
the Rafflesia so special. From the standpoint of a botanist, the intriguing thing about the Rafflesia
is that it doesn't have chlorophyll and it doesn't photosynthesize... and this has caused a lot of
debate among botanists about what exactly a plant is. We traditionally thought that plants had to
photosynthesize that it was, um, a defining characteristic of a plant. The Rafflesia, however, defies
that theory, and really has very few of the traditional characteristics of a flower. But, as you can
see, it still looks like a flower and so it has been, well, classified as a flower. Okay. So, if it doesn't
photosynthesize, how exactly does the Rafflesia survive?

Well, if you'll take a look at the slide, you'll see that the Rafflesia doesn't have any roots, leaves,
stems, or much else for that matter. On the surface, it's just a flower. What's hidden here,
however, is that this flower is feeding off of the vine it's attached to. This makes it a... parasite,

and its host is always the same plant, the Tetrastigma. Basically, what it, the Rafflesia, does is it




starts as these tiny, uh, filaments inside the Tetrastigma vine. These filaments absorb nutrients and
then they grow until they're ready to reproduce, which is when it actually starts to appear outside
of the vine as a growth that eventually blooms into the flower that we have been looking at.
What's frustrating about this, though, is that it makes the Rafflesia incredibly difficult to study. We
can't really dissect filaments because the Rafflesia’s already uncommon and, well, we don't want
to risk killing it. But this also means that we can't know as much as we would like about its, um,
inner workings. Um, about the reasons why they are uncommon... Basically, they're only found in,
well, remote parts of the world-Southeast Asia and, even in those places, there aren't a lot of
Rafflesia around. They aren't well-protected, and their habitats are being destroyed, which is
actually one of the reasons why it's so important for us to study them now-so that we can learn
how to sustain them in... in other, possibly artificial, habitats. The most frustrating thing of all,
however, is that, even if we're happy just studying the flowers and not the filaments inside the
Tetrastigma vine, these flowers start to die after a few days and that is just not enough time to

do enough work with them.
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